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1 | A) Complete the words with appropriate letters.

1. Free education for all has been fash - - nable in some countries.
2. They were glad to end the daily strug - le among their family members.

3. They are se - rching for the chem - cal basis of memory in the brain.

2 | B) Use these words in the following sentences.

2. I always feel .................... after a holiday.

(relaxed, details, pressure, produces, briefly, realized, purpose)

1. What js your idea abdut the cars Toyota ..o

3. Time is short, so I will tell you about the problem only ... ... ... .
4. When I got to school, I ..............cc..ccc.eee.ceo..... that I had lost my notebook.
5. There is no need to go into all .................... of the story.

6. I asked the mechanic to test the air ...............cccco.. in my car tires.

?

3 | C) Choose the synonyms and the antonyms from the list given. 3

1. prepare

1

3. improve 4. clever #

5. take place = ... 6. refuse 2

(allow, stupid, occur, harmful, become better, accept, fit)

2. useful 2 o,
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D) Choose the correct option.
1. It is necessary for you to ... your homework carefully.
A) to do B) do C) that do D) doing

2. Susan: "What would you like to study when you go to university?”
Sarah: T . psychology.”

A) will be studied B) am going to study

C) had studied D) have been studied

"

3. Jack: "Have they arrived yet?” John: "No, and we don't know when ... .
A) have they arrived B) they arrived
C) they have arrived D) they will arrive

4. Sarah: "Does your sister like dogs?” Susan: "No, she is afraid ... them.”
A) from B) with C) by D) of

5. Most children enjoy ... story books.
A) read B) reading C) that read D) to read

6. John: "Did you give back the books to the library?” Jack: "Yes, I ... ."
A) gave back them B) gave it back C) gave them back D) gave back it

E) Use the correct form of the words given.

1. Her parents are thinking about ... their house. (repair)
2. The teacher has finished ............................ our exam papers. (correct)
3. I'd like to know your ....................... for bird migration. (explain)
4 QOurbrainhasa ..................ability to remember things. (wonder)

F) Choose the correct option.
1. Susan: "What do Japanese people do in their free time?” Sarah: ".. .°

A) They are very hard working B) It depends

C) No, they don't have any free time D) It's impossible

2. Jack: "How often do you go to the dentist?” John: " "

A) yes, I often go to the dentist B) That's probably a good idea
C) Two months ago D) Twice a year

3. Which word has a different stress pattern?
A) happy B) above C) myself D) result

4. Which word has a final /z/ sound?
A) maps B) writes C) pens D) roofs
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G) Choose the correct option.

1. We cannot just choose the first system of education we find; or continue

with an old system of education without examining it to see whether it is in

fact suitable or not. In other words, we should ... of education.
A) continue with old systems B) examine only a new system
C) choose the first system D) choose a suitable system

2. For families with children, a big problem is getting the children away from
the television to do their homework. According to the above sentence,
television ... .

A) can solve big problems of the families

B) stops children from doing their homework

C) can teach families about children

D) helps children in their homework

3. We may lose completely conscious memory of very important events if they
are difficult or painful for us. According to the above sentence, ... .

A) difficult or painful events may be forgotten

B) important events are difficult or painful to remember

C) difficult or painful events make us conscious

D) loss of memory occurs when events are very important

4. Everybody knows that if we do not use our arms or legs for some time,
they will become weak; when we start using them again, they slowly become
strong again. Yet there are many people who do not seem to know that
memory works in the same way. In other words, our memory ... .

A) is similar to our arms and legs B) also needs practice

C) will become stronger by itself D) seems to work slowly
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H) Read the following passage and answer the questions.

Samuel F. Morse became famous for his invention of the telegraph. But
Morse had first been a painter. He had tried to paint like the Italians. Many
famous artists had seen his paintings. They said, "Samuel Morse has learned
the principles of art well. But he has no imagination.”

Samuel Morse had always enjoyed electrical experiments. One day he
was returning from Europe on a ship. A friend had recently talked to him in
Paris about some new experiments with electricity. Morse had listened
carefully. On the ship he thought about the conversation with his friend.
Then he wrote down his ideas for a new invention. Morse's first message was
sent on May 24, 1844, Morse had discovered how to transmit messages by
telegraph.

(principles:  Jsel , imagination: e.ou. juss)

1. What did other artists think of Morse as a painter?

2. What did Morse invent?

3. Morse became famous because he painted like the Italians.
A) True B) False

4. Morse had a conversation with a friend who was returning from Europe.
A) True B) False

5. We can guess that the word "transmit” in line 10 means ... .
A) send B ) invent C) spend D) invite

6. What Morse did in 1844 shows that in fact he ... .
A) was interested in painting B) invented the telegraph in Paris

C) had a good imagination D) was the best painter

Good Luck




